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B.1 N.2N,10N
C.3 N4 N.,5 N
D.1 N.6 N.3N

2. 1—1 , A B
A.A B A )
B.A B A s
C.B A A ,
D.B A A ,

3. 4—2 ,m, = 2 kg.m, =1 kg,

A B
4 4—3 s s
A. A
B. B
C. AB
D.
5 4—4 , m 500 N,
A.500 N
B. 400 N

’ 4a>4‘85

P

G =300 N,

T

45 — 65
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C.300 N
D. 100 N
6. 4—5 s
m
M
A.Mg — f
C.Mg +mg —2f
. ¢ 26
1.5 )
F )
2.(5 ) 4—7 ,
s F=
3.(8 ) G
4—38 )
A r.
4.(8 ) 4—9,A.B
/1> B
F,
, F

45

— 66

M s
F m, m
fy m M
B.Mg +mg — F
D.Mg —2f
(
F,, F, = W, =
G
F
F
G
4—7
A
F, = ,
A
4—8
m ’
Iz A
A ,B

,m
( )
4—5
476)’ Fﬁ
F,, P —
]
4—6
60°
F, (
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. ( 4 24 )
1 4—10 s m 0 s
/s F ,
, (
A. pngcosf B. x(mg cosf + Fsin®)
C. Fcosf) — mg sinf D. (g cos@ — Fsing)
2. 4—11 s a m
, (
A. mgcosa B.mgtana  C.mg/cosa D. mg
3. m 0 s
(
A. B.
C. D.
4 4—12 s s
, , , 1.2.3
4—12

A F, <F, <F;
CF >F, >F;
5. 4—13 s
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4—10
411
Fi F, Fy
( )
( )
( )
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C. .
D.
. ¢ 26 )
1. (5 ) s F ., F=100N
F=20N s s
F s F =
2. (6 10 N, 16 N, s s
300, N, N.
3.(8 ) 4—14 , 5 m
4 m A.B, s
12 N , ; Fr
414
4. (8 ) 4—15 s m , L s
R , d,
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A.0<<x<0.4m
B.o<<x<{2m
C.0.dm<Cx<<0.8m
DO4dm<ar<<2m

N ( 4, 24 )
A.
B.
C.
D.

4—16 ,ON

F\.F,.F;,

AF, =F, =F,
B.Fi, > F, > F;
C.F, >F >F;
D.F, > F, > F,

4—17 ,
A.
B.
C.
D.

4—18 s G,
A. , >
B. s s
C. ,
D. , ,

4—19 ,

A s 300 N
200 N,
x

45

B
2.4 m,

O s N
( )
, V77777777774
O
—
417
F i
( )
9’ H X
’ [ O
O >
B 4 F Z
¢ 419

45 — 69
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6. 4—20 . OA 0 . ,
F, .F, , OA .
(0] M, M, ,
A M, > M, B.M, = M,
C. M, <M, D.
. « 26 )
1. (5 ) , .
2. (5 ) . 640 N ,
. N
3.(8 4—21 Ne)
B , F 20N,
F'.
4.8 ) 1—22 , AC A
R B 0= 30",
AC D 40 N F,

860 N

D

45 — 70



A.2:7
C.4:3

A. 8p/9
C. 2p/9
4—25

A.F, > F,
C.F, = F,

B.F
C.F
D.F

2/3

’

B.v/2G/2
,AB

’

45

24 )
2/7,
B.7:2
D.1:4
L 0 AB,
B.90/8
D.p
G
C.v/2G/4 D. 2G
.B A
Fi, A.B
F,, B.A
B.F, < F,
D.
m, O s
. F
O ’ ’
F
45 — 71
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4—24
G
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4—25
A f
Al
B
)
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N « 26 )
1. (5 ) 1 m, 6 kg ,
O. 2 m ’ *
2. (5 ) 4-—29 , G, R.
h (R>h),
3. (8 ) 4—30 s L BC 100 N, B
MN ., B XL 50 N :
5
AC 150N, : MN AB
i
4
B c
\ ﬁ
4—30
4. (8 ) 4—31 s BC =0.5m, B
9 (j 9
, /CBA = 60°, y G, = 20 N,
cm, G, = 80N, F( )
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8 7 , OB OC G .
o F, 0,
s F (
A @G B. go C.\/3 D. 2G
9 R 8 s (
A A F, !
B A PA F, A,
C PB B PB F, L
D. B 1‘1 B I'):i
10. 9 , AB B , ©
F , , AB i’
C 8
A. . F
B. bl FZ
C. 9 Fli
D 9 Fl
. ( 4, 20 )
11 10 \A.B , A
; B , F
. . A.B . B N
: Fe—y B
12. 11 JAB M, =0.5kg,My = 0.2 kg,A
s | p=0.2, . 10
N(g = 10 m/s?). e I —
13.
F, =6 N,F, =7 N,F, = 8§ N, s
N. Fy,
11
14. I —— 0 F
. . F
15. . , my .
’ my -
. G )
16. 13 .0 .
2 \3 4 ......
100 N, gC )
13



N (5
17.
N (
18. (10 )
30°

14 OA (@]

s 40 N, r

45
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19. (10 ) AC .BC , 15 100 N, | 8

20. (10 16 ) OA OB G,
A.B , A0 ,BO

30° AO .BO 200 N ,

16

45 — 76
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B.F, =G
C.F, = uF D.F, = G

Fi F, [ Fs

o
T
~
3

2F
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A. 2a
B. 2a
C. 2f
D. f
8 3 , 1 2 A 5
: R O T L B
1 2 ( ) 3
A F,
B. F,
C.(F,+F;)/2
D.(F, —F,)/2
9. m a , )
A. mg
B. m(g+a)
C. mg
D. m(g+a)
10. , ,
F, F )
A, F, .F
B. Fy .F
C. F, .F
D. F, .F
N ( 4, 16
11. 10 N , ,
5N,
12. s 1s 3 m, 1s 5 m,
m/s, m/s”.
13. 4 , V/mes!
s 2s m, 3 <
m/s’, P . 9 £ -
14. 2 kg s 8 N, 12 N,l_
) ’ 2 %
N ¢ 10 > 4
2 e 3 A B c D
||||||||I|I|I|I|||I|”|I|||||| 8 I 8
O kR 10 3.6 4.8 6.0
5 6
15. (4 ) s 5 s cm.
16.(6 ) ” , (D .
N N . N N . (2
6 s cm,
0.1 s. m/s?.
N C 34 )
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17.¢(9 ) 100 N s

100 N . 120 N ,
18.(9 ) 7 s a.b G = 40N .a

b 0=237 b . (sin37° = 0. 6,4

cos37° = 0.8)
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19. (8 ) 8 s OA O s 100 N,
A F, 30° ,
F
8
20.(8 ) 9 s 300,
2 kg , (1) a=1m/s
(2) 15 N,
s (g =10 m/s") 9
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® >

oo

3s

Z2s
3s 6 m
3s 12 m

oDowp

O E >

=

oDowp

© >

oo

3 N.4N.5N
A.15 N
B.0O N
C.2 N
D.10 N

45

4 m/s

45
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1kg.2 kg.3 kg,A.C

30 s

9946 994

7 2,
C .
A. OA
B. OB
C. oC
D. OB, ocC
8.
A.
B.
C. s s
D. . s
9 3, G,
F s
A F
B. F
C.G
D.G
10. A 0
A.
B.A
C. A
D. A
N ( 5 . 25 )
11.
3 -
.5
12.
13. 6,
14. ,
40 m (G
¢ oo 7).
15. 7, s

,B
,B

,C

45
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80 m,
7y, 30s

v/mes !

5




17.

18.

«C 5 )
F, F
a—F R
s 8 .
¢ 30 )
30° 9. (g = 10 m/s*)
@D) s
(2) s
F

F

10,

10 kg ’

45

2 kg, F
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19. 11 ) OA O ,

11

20. 10 m/s , 1 m/s* s 20 m
4 m/s s
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\1.BC 2.D 3.AD 4.BD
NE ( )
2.10 3. 4.

5.AB 6.BCD
N

J1.AD 2.C 3.D 4.BD 5.BD 6.BCD

1.3 20.4 2. Y et U
2 7
4- .
I.LBC 2.D 3.B 4.B 5. ABD 6.C
A 2 34

J1.D 2.ABCD 3.B 4.AD
Jdopng 2,10 0.2 10
3.10N 12N 4.2

J1.AD 2.ACD 3.D 4.B
AL F F; 2.17 0
12 N

J1.BD 2.BCD 3.A 4.ABD 5. A

NE
2

mg cosa

3.(D

5.BC 6.BD
5.C 6. A
3. 4.4

6. A
2.F +

45

ﬁ(} 4.

3 :F, = mgsing F, =
mg cosa
:F, = mgtana F, = mg/cosa
Fy=mg F, =0
A 2.BD 3. ABCD
W1
; 2.0.1 mm 0.05 mm O.
02 mm
3.50.15 4.130.22 5.6 0.7
6. 0.26 mm,
0. 24 mm, .
7. ,
1. AB 2.CD 3.BCD
NS
2. (D O (2)
(3) O ,
3.
4 . F F’
s F F’ ,
A 2.ACD 3.D 4.BC 5.BCD
6.C 7.C 8.C 9.C 10.AC
W11,
12.1 mm 19mm 20 0.95 0.05 2.050
13.0 ~ 16 N
14. 25 37°
15.8 6 16.7 7
17.70 N )
, 70 N. 150 N,



s 100 N —2 —2

19.a = 30° 20.yu = tana

J1.B 2.BD 3.C 4.D 5.AD 6.C
d.4s 2.26 3.2 5 4.(1)3.5m/s
(2)3m/s (3)4.25m (4)20m

1.CD 2.D 3.ABD 4.D 5B 6.D 1.A 2.A 3.ACD 4.A 5D 6.C

1D @ 3 W +1.6.5
.3 2.1: (2—1 = (J3—V2)
2. V2R 45 - R 4125
.15 (2 59° (321 1.(1)25 (2)4s
4.40 m 60 m
.1.B 2.BD 3.CD 4.D 5BC 6.B
JLA2.AC 3.AC 40ABC 5. ABD 1.3.42s 57.16m 2.125m 3.4.5 m/s
6. ACD 110
LD (2)sh =0 sp = 1m
(Dos =1 m/s vy =— %m/s (DS, = 3m S,
=—4m
3 J1.CD 2.A 3.BC 4.AB 5B 6.D
2.12.5 m/s
3.24 cm L
4.4.5m 1.5 m
2.1.5
3.1.3
1.CD 2.C 3.AC 4.C 5.C 6.C +
1.10 10
2.14 5 17
5 (Vi V) /2 2010/ (on - 1) 1.D 2.D 3.B 4.ACD 5.C 6.C
s 7.AD 8.C 9.B 10.C
11,4 m/s* 50 8
12.(/3—=V2) + J2—1) : 1
1.D 2.AC 3.A 4.BC 5.CD 6.ABC 13.70 1:1
NE 30 m/s 14. 300 m
2 m/s .15. BEFCADG  16.
2.30m/s 20ms/ 150m 5s J17.0.4m/s 1.4 m/s* 2.6 m/s
3. 18.31.25 m
4. 19. (D2v/a (2)2v
20. 1s
1.D 2.C 3.C 4.B 5.CD 6.AB
1.2 2,25 3.2.5X 10 1.AC 2.B 3.B 4.D 5.BCD 6.C
1. 4 —2 7.CD 8.B 9.AC 10.BCD
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11.5 12.(1)42m (2)3 m/s*
13.50 N 14.0.45 15.20.6
16.(1)6 N 8N (2)2N~ 14 N 17.30.6 m
18.3m 19.0.5 m/s* 7.75 m/s
20. (124 m (2)13s (3)337 m

A 2.A 3.D 4.C 5B 6.B
WL 2. 3. 4.

.1.C 2.CD 3.ACD 4.D 5.C 6.C
7. AC

1.

2.80 kg;130.4 N

.1.B 2.C 3.B 4.B 5 ABC 6.B

Jﬁ 2.0.6 3. 1

VO 19 = 2
548 168 4.0.5m/s

J1.D 2.ABC 3.CD 4.D 5.C 6.BD
J1.0.5 0.4 2.(M—m)g+ma 3.2.4N
4.1. 7N

\1.BC 2.B 3.CD

JL. 2. 3.10m/s 4.2.5
6.25 5.60s 6.(1)9.5m/s*(2)0.6N 7. (1)1IN
(2)g(  10m/s*)(3)8m/s*

LB 2.B 3.BC 4.ABC 5B 6. BC
N %F 2.0 3.(1)1005/3N(2)50 y3N

4.0.2 25m

J1.B 2.B 3.C 4.BD 5. AD 6.D

shre

45

1,700 420 980 2.%771 3.

4.2.5m/s"

LA 2A 3.C 4B 5B 6D
7.ACD 8.BD 9.C 10.BD

JAl.g 12.1:1 13.3s 21 14.18
2 15.0.1 16.0.4

\17.0.2 18.8750N  19.(1)2m/s (2)6 m
20. (1D16.8m (2)12.2m/s (3)4.08

J1.C 2.D 3.B 4.B 5D 6.BD
G
2
G(R—r) G(R+r)
2 VR 2 VRr

4. dpmg

.0 F 2. F

1.B 2.C 3.D 4.B 5. AB 6.BD

1,40 N 2.443 243 3.10 N 4.
R L

J1.C 2.D 3.A 4.B 5D 6.B
WL 0 2.1500 3. 35N
4.40 N

JA.B 2.A 3.A 4.A 5BD 6.D
7.AC 8.D 9.C 10.B
JALLF 0 12,3 13.0 6N

15. v/ mym,

14. mg /(cosf — psin®)

— 3
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B Ah1455 i S

.16. 200
J17.
.18.20+/3N

19.73.2 N 51.8 N 20.100 N

.1.D 2.BC 3.B 4.B 5.D 6.D
7.BD 8.C 9.AD 10.C
JA1.0 12.4,2 13.4 1
14.10m/s* 2m/s’
\15.2.37

16. (D) (2) , 1.

J17.500 N 18.50 N 19.25 N
20. (D12 N (2)2.5 m/§

45

J1.C 2.AC 3.AC 4.B 5.C 6.A 7.
A 8. AC 9.BC 10.BC

Al.6m 2m/s 1lm/s 1m/s* 1.6m/s 8m
12. 13.10 N 0 14.
15.10 N 14N 16N
\16.
J17..(D) N, = G/cos30° =
115.6 N
(2) a =4 m/s?,
N, = (mg + ma)/cos30° = 161.8 N
18. 19.34.6 N
20. s 2 m.
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